<
I]@[I \ Y o & 1% =3
¥ a=m 2 AR FIUR AdunITLRUAITEIIINLEAY

fa: Jun ASWUU:
20(%—%)+10= (48+8+%)><%=
(21+3+%)><%= (50+1o—§)><%=

www.snowmath.com



188 /5

LAR&IUR a16Un15ELTUNTEIILEAL

ia:
I 1 1
20(= - =)+ 10 ==
0(2 3) 0 3
2 31 1 9
—_—— (=t =)= (——
5 4(2 3) (40)
1.1 18
20+3+-)x == — =
@l=3rg)xg=5 73
I 1.1 1 13
5727 5 &’
1 31 3 9
_—_(_—_):__
2 23 5 10

| W

Yuii: ATUUY:
11 31 1
48 -8+ )X == — =1—
@=8+2)% 7= 5 " 13
11 2
4 —_— - —1 =
0G-3)710=3
2 1 M
—1 — — —_ =
(0+10=2)x 5= %3
303 6 9
-6+ — -= —=0—
(0+6+3)%35= 1~ %79
L PR .
3 5%75) " 150

www.snowmath.com




